
Step by step guide  
to address each question of final exam (IELTS reading section 1) 

 

 

 

Note: you should spend 20 minutes on this passage, for a better test result it is believe to only 

spend 15 minutes on this for a wider time window in order to answer the other sections as they 

are much harder. Also, you are going to be given 1 hour for 3 reading passages under real 

IELTS exam conditions. Yet, you had 40 minutes to tackle this passage’s questions. In 

following, we will cover each question one by one and answer them step by step.  

 

Here we have two types of questions: complete the note (1-8) and True/False/Not Given (9-

13). In complete the notes we have to find a word from the passage and place it in the blank 

space so the overall meaning of the given statement is right and according to the text. 

True/False/Not Given question requires you to check the given statement with the right part 

of the passage to see if it is right, wrong or not given.  

 

It is advised to look at the questions at first, underline the keywords and look them up in the 

text. And, without hesitation, start reading the passage.  

 

Also, questions come in order. For example, if you find the answer of question number 10, 

rest assured the relevant part of passage to question number 11 comes after.  

 

Feel free to search words you don’t know, as it is a virtual necessity to know IELTS words to 

be able to take the test.  

 

Questions and passage are attached and you can check them on the next pages.  

  



 

 

 

  



 

 



 

  



Question number 1&2: 

 

 

 

After highlighting the keywords, we start reading the reading: (first paragraph)  

 

 

 

So, the answers are obviously available in the text:  

 

 

 

Word power is needed in each reading test to complete. So, enhance your vocabulary 

knowledge.  

 

Spear =   

  

obsidian 
spears 



Question number 3: 

 

 

 

After highlighting the keywords and good level of understanding the question, we will go on 

to continue to read where we left off. (second part of paragraph 1)  

 

 

 

As you can see some of the keywords are repeated in the text. It makes it easier for us to 

navigate through the text and find what we are looking for.  

 

So, the answer is as follows: 

 

 

Aside from vocabulary, we need a bit of word order meaning and understanding. For example, 

a plastic bag means a bag made of plastic or a leather jacket means a jacket made of leather. 

So, “coating stone beads” (the last line) also has the similar meaning. “Stone beads” means 

several beads made of stone which has a form of glass (glaze) coating them.  

 

 

Bead =  

  

beads 



Question number 4:  

 

 

 

After highlighting the keywords and good level of understanding the question, we will go on 

to continue to read where we left off. (third part of paragraph 1)  

 

 

 

There is nothing useful or related to the question here so we move on and continue reading till 

we reach were we see some useful information to answer the question. (paragraph 2)  

 

 

 

Here we go! The answer is in the text exactly as we want it. It is just the matter of finding it. 

So, the answer is obvious: 

 

 

 

You should know:  

Due to … = because of …  

pure > impure > impurity > impurities   

  

Impurities  



Question number 5:  

 

 

 

After highlighting the keywords and good level of understanding the question, we will go on 

to continue to read where we left off. (second part of paragraph 2) 

 

 

 

This question is a little tricky as it complicates the text by referencing to already mentioned 

data by “during this century” referring to first century or “the skill and technology” referring 

to glass making. Anyways, we find the answer easily.  

 

 

 

Pay attentions you have to use capital R for Romans as it would be a mistake writing like this: 

romans 

 

  

Romans 



Question number 6&7:  

 

 

 

After highlighting the keywords and good level of understanding the question, we will go on 

to continue to read where we left off. (third part of paragraph 2) 

 

 

 

 

We find nothing to these questions requirements and therefore we keep on reading.  

(paragraph 3) 

 

 

Bear in mind, the names or the numbers show up at the question are highly likely to appear in 

the text exactly as it is. So, right now “George Ravenscroft” is a good sign to get the answer 

out of the passage. 

 

 

Clouding is technical term that causes the glass to be no longer clear and transparent and lead 

is an element used for different purposes.   

lead 
clouding 



Question number 8: 

 

 

After highlighting the keywords and good level of understanding the question, we will go on 

to continue to read where we left off. (second part of paragraph 3) 

 

 
 

Nothing useful so we persist reading with no regard for this paragraph. We move on. 

(paragraph 4) 

 

  

 

This question requires a little bit of logical thiking as it does not provide the information as 

the same format as of the question. However, the answer is still crystal clear.  

 

Tax is an amount of money which is taken by government from normal citizens to provide 

facilities.  

taxes 



Question number 9: 

 

 

 

After highlighting the keywords and good level of understanding the question, we will go on 

to continue to read where we left off. (second part of paragraph 4) 

 

 

 

The rest of the fourth paragraph provides us with no useful information. So, we keep reading 

till we find perhaps the name Ashley or anything else related to it. (Paragraph 5) 

 

 

 

 

More than three time (3x) quicker is far quicker that any at-the-time machine. So, the answer 

is definitely TRUE. 



Question number 10:  

 

 

 

After highlighting the keywords and good level of understanding the question, we will go on 

to continue to read where we left off. (second part of paragraph 5) 

 

 

 

 

There we go! Obviously, he is a company owner who designed a bottle manufacturer machine 

for his use in his company not any other way as the text implies firmly. So, this statement is 

most certainly FALSE.  

  



Question number 11:  

 

  

After highlighting the keywords and good level of understanding the question, we will go on 

to continue to read where we left off. (third part of paragraph 5) 

 

 

 

There is nothing related to the question so we move on till we find some. (paragraph 6) 

 

 

 

This part is related to the topic partly but there is no information clearly agreeing or disagreeing 

with the statement. So, the answer is NOT GIVEN as there is no given information. 

 

 

 



Question number 12:  

 

  

 

After highlighting the keywords and good level of understanding the question, we will go on 

to continue to read where we left off. (second part of paragraph 6) 

 

 

 

Nope, nothing useful. We move on. (paragraph 7) 

 

 

 

The answer is right in front of us, it is according to the text so the answer is TRUE.  

  



Question number 13:  

 

 

 

After highlighting the keywords and good level of understanding the question, we will go on 

to continue to read where we left off. (second part of paragraph 7) 

 

 

 

That is FALSE as the statement contradicts with the text and the idea presented in it.  


